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1.You performed a custom code check for an SAP S/4HANA conversion. In which transactions can you 
review the results? There are 2 correct answers to this question. 
A. SYCM (Simplification Database Content) 
B. SAT (Runtime Analysis) 
C. ATC (ABAP Test Cockpit) 
D. SE80 (Object Navigator) 
Answer: C,D 
 
2.You are performing an SAP S/4HANA conversion of the development system. 
Which credentials do you use in which system to perform the adjustment of programs and other 
non-dictionary repository objects (SPAU)? Please choose the correct answer. 
A. Credentials of a named user in client 000 of the shadow system 
B. Credentials of a named user in the development client of the development system 
C. Credentials of user DDIC in client 000 of the shadow system 
D. Credentials of user DDIC in the development client of the development system 
Answer: B 
 
3.What is the main purpose of performing benchmark runs for an SAP S/4HANA conversion? 
A. To optimize the migration 
B. To optimize the activation 
C. To optimize the conversion 
D. To optimize the main import 
Answer: A 
 
4.Which step can be optimized when you provide the MIGRATE_DT_DUR.XML file to SUM? 
A. Shadow on target creation 
B. Downtime conversion 
C. Silent data migration (SDM) 
D. Downtime migration 
Answer: D 
 
5.You are executing a standard SUM procedure to update an SAP system using main configuration mode 
"Standard". 
When will the shadow system be stopped for the last time? Please choose the correct answer. 
A. Before the downtime starts 
B. At the end of the downtime 
C. As part of the cleanup process 
D. Early in the downtime 
Answer: A 
 
 


